

## Research Article

Yan-Fang Xue, Xiao-Jing Zhong, and Chun-Lei Tang\*

# Existence of ground state solutions for critical quasilinear Schrödinger equations with steep potential well

<https://doi.org/10.1515/ans-2022-0030>

received August 20, 2021; accepted September 20, 2022

**Abstract:** We study the existence of solutions for the quasilinear Schrödinger equation with the critical exponent and steep potential well. By using a change of variables, the quasilinear equations are reduced to a semilinear one, whose associated functionals satisfy the geometric conditions of the Mountain Pass Theorem for suitable assumptions. The existence of a ground state solution is obtained, and its concentration behavior is also considered.

**Keywords:** quasilinear Schrödinger equation, ground state solutions, critical exponents, steep potential well

**MSC 2010:** 35A15, 35D30, 35J62

## 1 Introduction and main result

We are concerned with the existence of solitary wave solutions for the following quasilinear Schrödinger equation:

$$-\Delta u + a(x)u - \frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2}) = k(x, u), \quad x \in \mathbb{R}^N. \quad (1.1)$$

This equation is related to the Schrödinger equation of the form

$$i\frac{\partial \psi}{\partial t} = -\Delta \psi + W(x)\psi - k(x, \psi) - \Delta \rho(|\psi|^2)\rho'(|\psi|^2)\psi, \quad (1.2)$$

where  $W : \mathbb{R}^N \rightarrow \mathbb{R}$  is a given potential, and  $\rho$  is a real function. The form of (1.2) has been derived as models of several physical phenomena corresponding to various types of  $\rho(s)$ . Seeking solutions of the type stationary waves, namely, the solutions of the form  $\psi(t, x) = \exp(-iEt)u(x)$ ,  $E \in \mathbb{R}$ , and  $u$  is a real function, equation (1.2) can be reduced to the corresponding equation of elliptic type

$$-\Delta u + a(x)u - \Delta \rho(u^2)\rho'(|u|^2)u = k(x, u), \quad x \in \mathbb{R}^N, \quad (1.3)$$

where  $a(x) = W(x) - E$  is the new potential function. If we take  $\rho(s) = s$ , we obtain the superfluid film equation in plasma physics as follows:

$$-\Delta u + a(x)u - \Delta(u^2)u = k(x, u), \quad x \in \mathbb{R}^N. \quad (1.4)$$

\* **Corresponding author: Chun-Lei Tang**, School of Mathematics and Statistics, Southwest University, Chongqing 400715, People's Republic of China, e-mail: tangcl@swu.edu.cn, tel: +86 23 68253135, fax: +86 23 68253135

**Yan-Fang Xue:** School of Mathematics and Statistics, Xin-Yang Normal University, Xinyang, Henan 464000, People's Republic of China

**Xiao-Jing Zhong:** School of History, Culture and Ethnology, Southwest University, Chongqing 400715, People's Republic of China

If we set  $\rho(s) = \sqrt{1+s}$ , we obtain equation (1.1), which models the self-channeling of a high-power ultrashort laser in the matter (see [9]). For more physical motivations and more references dealing with applications, we can refer to [14,17] and references therein.

Recent studies have been focused on problem (1.4) (see [8,14,17,20] and references therein), but there are few results on problem (1.1). Here, we establish the existence of ground state solutions for problem (1.1). The main mathematical difficulty with problem (1.1) is caused by the second-order derivatives  $\frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2})$ , and the natural functional corresponding to problem (1.1) may be not well defined in the space  $H^1(\mathbb{R}^N)$ . To overcome this difficulty, various arguments have been developed, such as a change of variables (see [6,7,12,19] and references therein) and the perturbation method (see [11]). More precisely, in [7], under some appropriate assumptions on the nonlinear term, they established the existence of a positive solution. The method is based on a change of variables, a monotonicity trick developed by Jeanjean, and an *a priori* estimate. By using the same change of variable and variational argument, Shen and Wang studied problem (1.1) with critical growth and obtained positive solutions in [19]. In [11], by using the perturbation method that was initially proposed in [15], a positive ground state solution has been obtained.

Enlightened by [16,19,21], we study the existence of solutions for problem (1.1) with steep potential well  $\alpha(x) = \lambda V(x)$  and  $k(x, u) = h(u) + |u|^{2^*-2}u$ , namely, the following quasilinear Schrödinger equation:

$$-\Delta u + \lambda V(x)u - \frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2}) = h(u) + |u|^{2^*-2}u, \quad x \in \mathbb{R}^N, \quad (1.5)$$

where  $N \geq 3$ ,  $\gamma, \lambda > 0$ , the potential  $V(x)$  satisfies the following conditions:

- (V<sub>1</sub>)  $V(x) \in C(\mathbb{R}^N, \mathbb{R})$ ,  $V(x) \geq 0$  for every  $x \in \mathbb{R}^N$ .
- (V<sub>2</sub>) There exists  $V_0 > 0$  such that  $M_0 := \{x \in \mathbb{R}^N : V(x) \leq V_0\}$  is nonempty and has a finite measure.
- (V<sub>3</sub>)  $\Omega := \text{int}V^{-1}(0)$  is nonempty.

This kind of assumption was first introduced by Bartsch and Wang [3] in dealing with the semilinear Schrödinger equation. Then, many results on this kind of potential were obtained, and we refer the readers to [2,5,13,21,23,25] and references therein. The potential well  $\lambda V(x)$  represents a potential well whose depth is controlled by  $\lambda > 0$ .

We assume that the nonlinearity  $h : \mathbb{R} \rightarrow \mathbb{R}$  is continuous and satisfies the following conditions:

- (h<sub>1</sub>)  $\lim_{s \rightarrow 0} \frac{h(s)}{s} = 0$ .
- (h<sub>2</sub>)  $\lim_{s \rightarrow +\infty} \frac{h(s)}{s^{2^*-1}} = 0$ .
- (h<sub>3</sub>) There exists  $\theta < \mu < 2^*$  such that  $0 < \mu H(s) \leq sh(s)$ , where  $H(s) = \int_0^s h(t)dt$ ,

$$\theta = \begin{cases} 4, & \text{if } N = 3, \\ 2, & \text{if } N \geq 4. \end{cases}$$

Now, we state our main existence results.

**Theorem 1.1.** Suppose that conditions (h<sub>1</sub>)–(h<sub>3</sub>) and (V<sub>1</sub>)–(V<sub>3</sub>) hold. Then, for  $\lambda$  large, problem (1.5) possesses a ground state solution if  $0 < \gamma < \gamma^*$ , where

$$\gamma^* = \begin{cases} \frac{16(\mu-2)}{(\mu-4)^2}, & \text{if } \mu < 4, \\ +\infty, & \text{if } \mu \geq 4. \end{cases}$$

Note that under our assumptions, for  $\lambda$  large enough, the following Dirichlet problem is a kind of limit problem:

$$-\Delta u - \frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2}) = h(u) + |u|^{2^*-2}u, \quad x \in \Omega, \quad (1.6)$$

where  $\Omega = \text{int}V^{-1}(0)$ . Next, we give a result related to problem (1.6).

**Theorem 1.2.** Assume that  $u_{\lambda_n}$  are the solutions obtained in Theorem 1.1 and  $\Omega$  is defined by (V<sub>3</sub>), then  $u_{\lambda_n} \rightarrow \hat{u}$  as  $\lambda_n \rightarrow \infty$ , where  $\hat{u} \in H_0^1(\Omega)$  is a nontrivial solution of problem (1.6).

**Remark 1.3.** For steep potential well, there are many results for several different equations. For example, the classical Schrödinger equation is discussed in [2, 5, 21, 23, 25], the nonlinear Kirchhoff-type equation with steep potential well is considered in [16], the Schrödinger-Poisson system is researched in [24], and equation (1.4) with steep potential well is discussed in [10]. However, there is no result on equation (1.5) with this kind of potential. To our knowledge, it is the first time to study the existence and concentration behavior of ground state solutions for critical quasilinear Schrödinger equation (1.5) with steep potential well.

**Remark 1.4.** We denote  $\int_{\mathbb{R}^N} h(x) dx$  as  $\int_{\mathbb{R}^N} h(x)$  for simplicity.

**Notation:** In this article, we use the following notations.

- $E := \left\{ u \in H^1(\mathbb{R}^N) : \int_{\mathbb{R}^N} V(x)u^2 < +\infty \right\}$  is the Hilbert space endowed with the norm

$$\|u\|^2 = \int_{\mathbb{R}^N} (|\nabla u|^2 + V(x)u^2).$$

For  $\lambda > 0$ , we also define the norm

$$\|u\|_\lambda^2 = \int_{\mathbb{R}^N} (|\nabla u|^2 + \lambda V(x)u^2).$$

It is clear that the two norms are equal.

- $L^s(\mathbb{R}^N)$  is the usual Banach space endowed with the norm

$$|u|_s^s = \int_{\mathbb{R}^N} |u|^s, \quad \forall s \in [1, +\infty).$$

- $B_r(y) := \{x \in \mathbb{R}^N : |x - y| < r\}$ .
- $C, C_0, C_1, \dots$  denote various positive (possibly different) constants.

## 2 Some preliminary results

We note that the solutions of problem (1.5) are the critical points of the functional

$$J_\lambda(u) = \frac{1}{2} \int_{\mathbb{R}^N} \left[ \left( 1 + \frac{\gamma u^2}{2(1+u^2)} \right) |\nabla u|^2 \right] + \frac{1}{2} \int_{\mathbb{R}^N} \lambda V(x)u^2 - \int_{\mathbb{R}^N} H(u) - \frac{1}{2^*} \int_{\mathbb{R}^N} u^{2^*}.$$

Variational methods cannot be applied directly to find weak solutions of problem (1.5), since the natural associated functional  $J_\lambda(u)$  is not well defined, in general, in the space  $E$ . To overcome this difficulty, we borrow an idea from Shen and Wang [18]. We use the change of variables  $v := F(u) = \int_0^u f(t) dt$ , where  $f$  is defined by

$$f(t) = \sqrt{1 + \frac{\gamma t^2}{2(1+t^2)}}. \quad (2.1)$$

After the change of variables from  $J_\lambda$ , we obtain a new variational functional

$$I_\lambda(v) = \frac{1}{2} \int_{\mathbb{R}^N} (|\nabla v|^2 + \lambda V(x)|F^{-1}(v)|^2) - \int_{\mathbb{R}^N} H(F^{-1}(v)) - \frac{1}{2^*} \int_{\mathbb{R}^N} |F^{-1}(v)|^{2^*}.$$

Since  $f$  is a nondecreasing positive function, we obtain  $|F^{-1}(v)| \leq \frac{|v|}{f(0)} = |v|$ . From this and the conditions of  $h$ , it is clear that  $I_\lambda$  is well defined in  $E$  and  $I_\lambda \in C^1(E, \mathbb{R})$  (see [9, 18, 19] for details). Now, we give another equation

$$-\operatorname{div}\left[\left(1+\frac{\gamma u^2}{2(1+u^2)}\right)\nabla u\right]+\lambda V(x)u+\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2=h(u)+|u|^{2^*-2}u, \quad (2.2)$$

which is equivalent to (1.5). In fact, we only need to show that

$$-\operatorname{div}\left[\left(1+\frac{\gamma u^2}{2(1+u^2)}\right)\nabla u\right]+\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2=-\Delta u-\frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2}).$$

By a direct calculation, we obtain

$$\begin{aligned} & -\operatorname{div}\left[\left(1+\frac{\gamma u^2}{2(1+u^2)}\right)\nabla u\right]+\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2 \\ &= -\operatorname{div}\nabla u-\frac{\gamma u^2}{2(1+u^2)}\operatorname{div}\nabla u-\nabla u\cdot\nabla\frac{\gamma u^2}{2(1+u^2)}+\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2 \\ &= -\Delta u-\frac{\gamma u^2}{2(1+u^2)}\Delta u-\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2 \\ &= -\Delta u-\frac{\gamma u}{2\sqrt{1+u^2}}\left(\frac{u}{\sqrt{1+u^2}}\operatorname{div}\nabla u+\nabla u\cdot\nabla\frac{u}{\sqrt{1+u^2}}\right) \\ &= -\Delta u-\frac{\gamma u}{2\sqrt{1+u^2}}\Delta(\sqrt{1+u^2}). \end{aligned}$$

If  $u$  is a weak solution of problem (1.5), then it is also a weak solution of (2.2) and should satisfy

$$\int_{\mathbb{R}^N}\left[\left(1+\frac{\gamma u^2}{2(1+u^2)}\right)\nabla u\cdot\nabla\varphi+\frac{\gamma u}{2(1+u^2)^2}|\nabla u|^2\varphi+\lambda V(x)u\varphi-h(u)\varphi-|u|^{2^*-1}\varphi\right]=0, \quad (2.3)$$

for all  $\varphi\in C_0^\infty(\mathbb{R}^N)$ . Let  $\varphi=\frac{\psi}{f(u)}$ , then it can be checked that (2.3) is equivalent to the following equality:

$$\langle I'_\lambda(v), \psi \rangle = \int_{\mathbb{R}^N} \left( \nabla v \cdot \nabla \psi + \lambda V(x) \frac{F^{-1}(v)}{f(F^{-1}(v))} \psi - \frac{h(F^{-1}(v))}{f(F^{-1}(v))} \psi - \frac{|F^{-1}(v)|^{2^*-1}}{f(F^{-1}(v))} \psi \right) = 0. \quad (2.4)$$

Therefore, in order to find the solutions of problem (1.5), it suffices to study the existence of solutions of the following equation:

$$-\Delta v + \lambda V(x) \frac{F^{-1}(v)}{f(F^{-1}(v))} = \frac{h(F^{-1}(v))}{f(F^{-1}(v))} + \frac{|F^{-1}(v)|^{2^*-1}}{f(F^{-1}(v))}, \quad x \in \mathbb{R}^N.$$

Now, we summarize the properties of  $F^{-1}$ ,  $f$ , which have been proved in [19].

**Lemma 2.1.** *The function  $F^{-1}$  and  $f$  satisfy the following properties:*

- (1)  $1 \leq f(t) \leq \sqrt{\frac{2+\gamma}{2}}$  for all  $t \in \mathbb{R}$ ;
- (2)  $1 \leq \frac{F^{-1}(t)f(F^{-1}(t))}{t} \leq \frac{4+2\gamma-2\sqrt{4+2\gamma}}{\gamma}$  for all  $t \in \mathbb{R}$ ,  $t \neq 0$ ;
- (3)  $\sqrt{\frac{2}{2+\gamma}}|t| \leq |F^{-1}(t)| \leq |t|$  for all  $t \in \mathbb{R}$ ;
- (4)  $\frac{F^{-1}(t)}{t} \rightarrow 1$  as  $t \rightarrow 0$ ;
- (5)  $\frac{F^{-1}(t)}{t} \rightarrow \sqrt{\frac{2}{2+\gamma}}$  as  $t \rightarrow \infty$ ;
- (6)  $0 \leq \frac{f'(t)t}{f(t)} \leq 1 + \frac{4-2\sqrt{4+2\gamma}}{\gamma}$  for all  $t \in \mathbb{R}$ .

**Definition 2.2.** Let  $E$  be a real Banach space,  $I \in C^1(E, \mathbb{R})$ , and  $c \in \mathbb{R}$ . The function  $I$  satisfies the  $(PS)_c$  condition if any sequence  $\{u_n\} \subset E$  such that

$$I(u_n) \rightarrow c, \quad I'(u_n) \rightarrow 0,$$

has a convergent subsequence.

**Lemma 2.3.** [26] Assume that  $k : \mathbb{R}^N \times \mathbb{R} \rightarrow \mathbb{R}$  is continuous and there exists a constant  $C > 0$  such that

$$\lim_{s \rightarrow 0} \frac{k(x, s)}{s} \leq C \quad \lim_{s \rightarrow +\infty} \frac{k(x, s)}{s^{2^*-1}} = 0.$$

Let  $\{v_n\} \subset E$  be a bounded sequence and  $v \in E$  with  $v_n \rightharpoonup v$  in  $E$ , then

$$\lim_{n \rightarrow +\infty} \left[ \int_{\mathbb{R}^N} K(x, v_n) - \int_{\mathbb{R}^N} K(x, v) - \int_{\mathbb{R}^N} K(x, v_n - v) \right] = 0,$$

where  $K(x, v) = \int_0^v k(x, s) ds$ .

**Lemma 2.4.** [22] Let  $E$  be a real Banach space and suppose that  $I \in C^1(E, \mathbb{R})$  satisfies

$$\max\{I(0), I(e)\} \leq \xi < \eta \leq \inf_{\|u\|=\rho} I(u),$$

for some  $\xi < \eta$ ,  $\rho > 0$ , and  $e \in E$  with  $\|e\| > \rho$ . Let  $c \geq \eta$  be characterized by  $c = \inf_{\gamma \in \Gamma} \max_{t \in [0,1]} I(\gamma(t))$ , where  $\Gamma = \{\gamma \in C([0,1], E) : \gamma(0) = 0, \gamma(1) = e\}$  is the set of continuous paths joining 0 and  $e$ . If  $I$  satisfies the  $(PS)_c$  condition, then  $c$  is a critical value of  $I$ .

### 3 Proof of Theorems 1.1 and 1.2

**Lemma 3.1.** Conditions  $(V_1)$ – $(V_3)$  and  $(h_1)$ – $(h_3)$  hold. Then, there exist  $\rho > 0$  and  $\eta > 0$  such that  $\inf_{\|v\|=\rho} I_\lambda(v) \geq \eta$ .

**Proof.** By  $(h_1)$  and  $(h_2)$ , for  $\varepsilon > 0$  sufficiently small, there exists a constant  $C_\varepsilon > 0$  such that

$$H(s) \leq \varepsilon |s|^2 + C_\varepsilon |s|^{2^*}. \quad (3.1)$$

By using  $(V_1)$ ,  $(V_2)$ , and the Hölder and Sobolev inequalities, we have

$$\begin{aligned} \int_{\mathbb{R}^N} |v|^2 &= \int_{M_0} |v|^2 + \int_{\mathbb{R}^N \setminus M_0} |v|^2 \\ &\leq |M_0|^{\frac{2^*-2}{2^*}} |v|_{2^*}^2 + \frac{1}{V_0} \int_{\mathbb{R}^N \setminus M_0} V(x) v^2 \\ &\leq |M_0|^{\frac{2^*-2}{2^*}} S^{-1} |\nabla v|_2^2 + \frac{1}{V_0 \lambda} \int_{\mathbb{R}^N} \lambda V(x) v^2 \\ &\leq C_1 \|v\|_\lambda^2, \end{aligned} \quad (3.2)$$

where  $C_1 = \max\left\{|M_0|^{\frac{2^*-2}{2^*}} S^{-1}, \frac{1}{V_0 \lambda}\right\}$ ,  $S$  is the best constant for the Sobolev embedding and  $|M_0|$  denotes the Lebesgue measure of the set  $M_0$ . By (3.1), (3.2), Lemma 2.1–(3), and the Sobolev embedding inequality, we have

$$\begin{aligned} I_\lambda(v) &= \frac{1}{2} \int_{\mathbb{R}^N} [|\nabla v|^2 + \lambda V(x) |F^{-1}(v)|^2] - \int_{\mathbb{R}^N} H(F^{-1}(v)) - \frac{1}{2^*} \int_{\mathbb{R}^N} |F^{-1}(v)|^{2^*} \\ &\geq \frac{1}{2} \int_{\mathbb{R}^N} |\nabla v|^2 + \frac{1}{2+\gamma} \int_{\mathbb{R}^N} \lambda V(x) |v|^2 - \varepsilon \int_{\mathbb{R}^N} |v|^2 - C_\varepsilon \int_{\mathbb{R}^N} |v|^{2^*} - \frac{1}{2^*} \int_{\mathbb{R}^N} |v|^{2^*} \\ &\geq \frac{1}{2+\gamma} \|v\|_\lambda^2 - \varepsilon C_1 \|v\|_\lambda^2 - \left(C_\varepsilon + \frac{1}{2^*}\right) S^{-2^*/2} |\nabla v|_2^{2^*} \\ &\geq \left(\frac{1}{2+\gamma} - \varepsilon C_1\right) \|v\|_\lambda^2 - \left(C_\varepsilon + \frac{1}{2^*}\right) S^{-2^*/2} \|v\|_\lambda^{2^*}. \end{aligned}$$

We choose  $\varepsilon$  small enough such that  $\frac{1}{2+\gamma} - \varepsilon C_1 > 0$ . Therefore, we conclude that there is  $\rho > 0$  small enough, such that  $I_\lambda(v) > 0$  whenever  $\|v\|_\lambda \leq \rho$ ,  $v \neq 0$ . Then, there exists  $\eta > 0$  such that for any  $\|v\|_\lambda = \rho$ , one has  $I_\lambda(v) \geq \eta > 0$ .  $\square$

**Lemma 3.2.** Suppose that conditions  $(V_1)$ – $(V_3)$  and  $(h_1)$ – $(h_3)$  are satisfied. Then, there exists  $e \in E$  with  $\|e\|_\lambda > \rho$ , such that  $I_\lambda(e) < 0$ , where  $\rho$  is given by Lemma 3.1.

**Proof.** We choose some  $\varphi \in C_0^\infty(\mathbb{R}^N, [0, 1])$ , with  $\text{supp } \varphi = \bar{B}_1$ , where  $\bar{B}_1$  is the closed unit ball in  $\mathbb{R}^N$ . We will prove that  $I_\lambda(t\varphi) \rightarrow -\infty$  as  $t \rightarrow \infty$ , which will prove the result if we take  $e = t\varphi$  with  $t$  large enough. In fact, by Lemma 2.1-(3) and  $(h_3)$ , one has

$$\begin{aligned} I_\lambda(t\varphi) &= \frac{1}{2} \int_{\mathbb{R}^N} |\nabla(t\varphi)|^2 + \frac{1}{2} \int_{\mathbb{R}^N} \lambda V(x) |F^{-1}(t\varphi)|^2 - \int_{\mathbb{R}^N} H(F^{-1}(t\varphi)) - \frac{1}{2^*} \int_{\mathbb{R}^N} |F^{-1}(t\varphi)|^{2^*} \\ &\leq \frac{t^2}{2} \int_{\mathbb{R}^N} |\nabla\varphi|^2 + \frac{t^2}{2} \int_{\mathbb{R}^N} \lambda V(x) |\varphi|^2 - \frac{t^{2^*}}{2^*} \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} \int_{\mathbb{R}^N} |\varphi|^{2^*} \rightarrow -\infty \text{ as } t \rightarrow +\infty. \end{aligned} \quad \square$$

**Lemma 3.3.** Suppose  $(V_1)$ – $(V_3)$  and  $(h_1)$ – $(h_3)$  hold,  $0 < \gamma < \gamma^*$ . Then, there exists  $\{v_n\} \subset E$  such that  $I_\lambda(v_n) \rightarrow c$ ,  $I'_\lambda(v_n) \rightarrow 0$ , and  $\{v_n\}$  is bounded in  $E$ .

**Proof.** It follows from Lemmas 3.1 and 3.2 that, there exists a (PS) sequence  $\{v_n\}$  for  $I_\lambda$ . We only need to prove that  $\{v_n\}$  is bounded. Let  $\{v_n\} \subset E$  be an arbitrary (PS) sequence for  $I_\lambda$  at level  $c > 0$ , namely

$$I_\lambda(v_n) = \frac{1}{2} \int_{\mathbb{R}^N} |\nabla v_n|^2 + \frac{1}{2} \int_{\mathbb{R}^N} \lambda V(x) |F^{-1}(v_n)|^2 - \int_{\mathbb{R}^N} H(F^{-1}(v_n)) - \frac{1}{2^*} \int_{\mathbb{R}^N} |F^{-1}(v_n)|^{2^*} = c + o_n(1), \quad (3.3)$$

and for any  $\varphi \in E$ ,

$$\langle I'_\lambda(v_n), \varphi \rangle = \int_{\mathbb{R}^N} \left( \nabla v_n \cdot \nabla \varphi + \lambda V(x) \frac{F^{-1}(v_n)}{f(F^{-1}(v_n)))} \varphi \right) - \int_{\mathbb{R}^N} \frac{h(F^{-1}(v_n))}{f(F^{-1}(v_n)))} \varphi - \int_{\mathbb{R}^N} \frac{|F^{-1}(v_n)|^{2^*-2} F^{-1}(v_n)}{f(F^{-1}(v_n)))} \varphi = o_n(1).$$

Choosing  $\varphi = \varphi_n = F^{-1}(v_n) f(F^{-1}(v_n))$ , from Lemma 2.1-(1)(3), we obtain  $|\varphi_n| \leq C|v_n|$  and

$$|\nabla \varphi_n| = \left| \left( 1 + \frac{F^{-1}(v_n) f'(F^{-1}(v_n)))}{f(F^{-1}(v_n))} \right) \nabla v_n \right| \leq C|\nabla v_n|.$$

Thus,  $\varphi_n \in E$  and  $\langle I'_\lambda(v_n), \varphi_n \rangle = o_n(1)$ . Recalling that  $\{v_n\} \subset E$  is a (PS) sequence, by  $(h_3)$  and Lemma 2.1-(3), we obtain

$$\begin{aligned} \mu c + o_n(1) &= \mu I_\lambda(v_n) - \langle I'_\lambda(v_n), \varphi_n \rangle \\ &= \int_{\mathbb{R}^N} \left( \frac{\mu - 2}{2} - \frac{F^{-1}(v_n) f'(F^{-1}(v_n)))}{f(F^{-1}(v_n))} \right) |\nabla v_n|^2 + \frac{\mu - 2}{2} \int_{\mathbb{R}^N} \lambda V(x) |F^{-1}(v_n)|^2 + \frac{2^* - \mu}{2^*} \int_{\mathbb{R}^N} |F^{-1}(v_n)|^{2^*} \\ &\quad + \int_{\mathbb{R}^N} [h(F^{-1}(v_n)) F^{-1}(v_n) - \mu H(F^{-1}(v_n))] \\ &\geq \int_{\mathbb{R}^N} \left( \frac{\mu - 2}{2} - \frac{F^{-1}(v_n) f'(F^{-1}(v_n)))}{f(F^{-1}(v_n))} \right) |\nabla v_n|^2 + \frac{\mu - 2}{2 + \gamma} \int_{\mathbb{R}^N} \lambda V(x) v_n^2. \end{aligned} \quad (3.4)$$

By Lemma 2.1-(6), one has

$$\frac{\mu - 2}{2} - \frac{F^{-1}(v_n) f'(F^{-1}(v_n)))}{f(F^{-1}(v_n))} \geq \frac{\mu - 2}{2} - 1 - \frac{4 - 2\sqrt{4 + 2\gamma}}{\gamma} := \frac{\mu - 4}{2} + l(\gamma).$$

If  $\mu \geq 4$ ,  $\gamma > 0$ , we obtain  $\frac{\mu-4}{2} \geq 0$ ,  $l(\gamma) > 0$ . Then,

$$\frac{\mu-2}{2} - \frac{F^{-1}(v_n)f'(F^{-1}(v_n))}{f(F^{-1}(v_n))} \geq \frac{\mu-4}{2} + l(\gamma) > 0. \quad (3.5)$$

If  $2 < \mu < 4$ ,  $0 < \gamma < \gamma^* = \frac{16(\mu-2)}{(\mu-4)^2}$ , we obtain  $\inf_{\gamma>0} l(\gamma) = \frac{4-\mu}{2}$ . Then,

$$\frac{\mu-2}{2} - \frac{F^{-1}(v_n)f'(F^{-1}(v_n))}{f(F^{-1}(v_n))} \geq \frac{\mu-4}{2} + l(\gamma) > 0. \quad (3.6)$$

Combining (3.4), (3.5), and (3.6), one obtains that  $\|v_n\|_\lambda$  is bounded.  $\square$

Up to now, we establish that the  $(PS)$  sequence  $\{v_n\}$  is bounded in  $E$ . We may obtain, up to a subsequence,  $v_n \rightharpoonup v$  in  $E$ ,  $v_n \rightarrow v$  in  $L_{\text{loc}}^q(\mathbb{R}^N)$  ( $2 \leq q < 2^*$ ), and  $v_n(x) \rightarrow v(x)$  a.e. in  $\mathbb{R}^N$ . A routine computation shows that, for any  $\phi \in C_0^\infty(\mathbb{R}^N)$ ,

$$\begin{aligned} \langle I'_\lambda(v_n) - I'_\lambda(v), \phi \rangle &= \int_{\mathbb{R}^N} \nabla(v_n - v) \cdot \nabla \phi + \lambda \int_{\mathbb{R}^N} V(x) \left( \frac{F^{-1}(v_n)}{f(F^{-1}(v_n))} - \frac{F^{-1}(v)}{f(F^{-1}(v))} \right) \phi \\ &\quad - \int_{\mathbb{R}^N} \left( \frac{h(F^{-1}(v_n))}{f(F^{-1}(v_n))} - \frac{h(F^{-1}(v))}{f(F^{-1}(v))} \right) \phi - \int_{\mathbb{R}^N} \left( \frac{|F^{-1}(v_n)|^{2^*-2} F^{-1}(v_n)}{f(F^{-1}(v_n))} - \frac{|F^{-1}(v)|^{2^*-2} F^{-1}(v)}{f(F^{-1}(v))} \right) \phi. \end{aligned}$$

Let  $\Theta = \text{supp } \phi$ , then  $v_n \rightarrow v$  in  $L^s(\Theta)$  ( $2 \leq s < 2^*$ ). By Lemma A.1 in [22], there is  $w_s(x) \in L^s(\Theta)$ , such that for every  $n \in \mathbb{N}$  and a.e.  $x \in \Theta$ ,  $|v_n(x)| \leq w_s(x)$ . Thus, for a.e.  $x \in \Theta$ , one has

$$\begin{aligned} \frac{F^{-1}(v_n)}{f(F^{-1}(v_n))} - \frac{F^{-1}(v)}{f(F^{-1}(v))} &\rightarrow 0, \quad \text{as } n \rightarrow +\infty, \\ \frac{h(F^{-1}(v_n))}{f(F^{-1}(v_n))} - \frac{h(F^{-1}(v))}{f(F^{-1}(v))} &\rightarrow 0, \quad \text{as } n \rightarrow +\infty, \end{aligned}$$

and

$$\frac{|F^{-1}(v_n)|^{2^*-2} F^{-1}(v_n)}{f(F^{-1}(v_n))} - \frac{|F^{-1}(v)|^{2^*-2} F^{-1}(v)}{f(F^{-1}(v))} \rightarrow 0, \quad \text{as } n \rightarrow +\infty.$$

Moreover, by Lemma 2.1-(1)(3), we obtain

$$\left| \frac{F^{-1}(v_n)}{f(F^{-1}(v_n))} \phi \right| \leq |F^{-1}(v_n) \phi| \leq |v_n \phi| \leq |w_2| \cdot |\phi| \in L^1(\mathbb{R}^N)$$

and

$$\left| \frac{|F^{-1}(v_n)|^{2^*-2} F^{-1}(v_n)}{f(F^{-1}(v_n))} \phi \right| \leq |v_n|^{2^*-1} \cdot |\phi| \leq |w_{2^*-1}|^{2^*-1} \cdot |\phi| \in L^1(\mathbb{R}^N).$$

From  $(h_1)$  and  $(h_2)$ , one can deduce

$$\begin{aligned} \left| \frac{h(F^{-1}(v_n))}{f(F^{-1}(v_n))} \phi \right| &\leq \left( \varepsilon |F^{-1}(v_n)| + C_\varepsilon |F^{-1}(v_n)|^{2^*-1} \right) \left| \frac{\phi}{f(F^{-1}(v_n))} \right| \\ &= \varepsilon \left| \frac{F^{-1}(v_n)}{f(F^{-1}(v_n))} \phi \right| + C_\varepsilon \left| \frac{|F^{-1}(v_n)|^{2^*-2} F^{-1}(v_n)}{f(F^{-1}(v_n))} \phi \right| \\ &\leq \varepsilon |w_2| \cdot |\phi| + C_\varepsilon |w_{2^*-1}|^{2^*-1} \cdot |\phi| \in L^1(\mathbb{R}^N). \end{aligned}$$

It is clear that

$$\langle I'_\lambda(v_n) - I'_\lambda(v), \phi \rangle = o_n(1), \quad \langle I'_\lambda(v_n), \phi \rangle = o_n(1).$$

Then, it follows from the Lebesgue-dominated theorem that,  $\langle I'_\lambda(v), \phi \rangle = 0$ , i.e.,  $v$  is a critical point of  $I_\lambda$ .

Given  $\varepsilon > 0$ , we consider the function  $w_\varepsilon : \mathbb{R}^N \rightarrow \mathbb{R}$  defined by

$$w_\varepsilon(x) = C(N) \frac{\varepsilon^{(N-2)/2}}{(\varepsilon^2 + |x|^2)^{(N-2)/2}},$$

where

$$C(N) = [N(N-2)]^{(N-2)/4}.$$

We observe that  $\{w_\varepsilon\}$  is a family of functions in which the infimum that defines the best constant  $S$  for the Sobolev embedding  $D^{1,2}(\mathbb{R}^N) \hookrightarrow L^{2^*}(\mathbb{R}^N)$  is attained.

By a similar computation to that in [1,4], we have

$$\int_{\mathbb{R}^N \setminus B_1(0)} |\nabla w_\varepsilon|^2 = O(\varepsilon^{N-2}), \text{ as } \varepsilon \rightarrow 0^+. \quad (3.7)$$

$$\int_{\mathbb{R}^N} |\nabla w_\varepsilon|^2 = \int_{\mathbb{R}^N} w_\varepsilon^{2^*} = S^{N/2}. \quad (3.8)$$

$$\int_{B_1(0)} |\nabla w_\varepsilon|^2 \leq \int_{B_1(0)} w_\varepsilon^{2^*}. \quad (3.9)$$

Let  $\phi \in C_0^\infty(\Omega, [0, 1])$  be a cut-off function satisfying  $\phi \equiv 1$  in  $B_1(0)$  and  $\phi \equiv 0$  in  $\mathbb{R}^N \setminus B_2(0)$ , where  $\Omega := \text{int} V^{-1}(0)$ . Define

$$u_\varepsilon = \phi w_\varepsilon, \quad v_\varepsilon = \frac{u_\varepsilon}{|u_\varepsilon|_{2^*}}.$$

Then, by (3.7)–(3.9), as  $\varepsilon \rightarrow 0$ , we have

$$\int_{\mathbb{R}^N} |\nabla v_\varepsilon|^2 = S + O(\varepsilon^{N-2}), \text{ if } N \geq 3, \quad (3.10)$$

and

$$|v_\varepsilon|_{2^*}^2 = \begin{cases} O(\varepsilon), & \text{if } N = 3, \\ O(\varepsilon^2 |\ln \varepsilon|), & \text{if } N = 4, \\ O(\varepsilon^2), & \text{if } N \geq 5. \end{cases} \quad (3.11)$$

**Lemma 3.4.** *The minimax level  $c$  satisfies*

$$c < \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} S^{\frac{N}{2}}.$$

**Proof.** It suffices to show that there exists  $v_0 \in E \setminus \{0\}$  such that

$$\max_{t \geq 0} I_\lambda(tv_0) < \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} S^{\frac{N}{2}}.$$

Since  $\lim_{t \rightarrow \infty} I_\lambda(tv_\varepsilon) = -\infty$  and  $I_\lambda(tv_\varepsilon) > 0$  for  $t > 0$  small enough, there exists  $t_\varepsilon > 0$  such that  $I_\lambda(t_\varepsilon v_\varepsilon) = \max_{t > 0} I_\lambda(tv_\varepsilon)$ . We claim that there are constants  $T_1$  and  $T_2$  such that  $0 < T_1 < t_\varepsilon < T_2$ . First, we prove that  $t_\varepsilon$  is bounded from below by a positive constant. Otherwise, if  $t_\varepsilon \rightarrow 0$  as  $\varepsilon \rightarrow 0$ , we have  $t_\varepsilon v_\varepsilon \rightarrow 0$ . Therefore,  $0 < c \leq \max_{t \geq 0} I_\lambda(tv_\varepsilon) \rightarrow 0$ , which is a contradiction. Second, if  $t_\varepsilon \rightarrow +\infty$  as  $\varepsilon \rightarrow 0$ , then, similar to the proof of Lemma 3.2, we can obtain  $0 < c \leq I_\lambda(t_\varepsilon v_\varepsilon) \rightarrow -\infty$ , which is a contradiction. Hence, there is  $T_2 > 0$  such that  $t_\varepsilon < T_2$  for  $\varepsilon$  small enough.



Now, by  $(V_3)$ , Lemma 2.1-(3), and (3.7)–(3.11), we observe that

$$\begin{aligned} I_\lambda(t_\varepsilon v_\varepsilon) &= \frac{1}{2} \int_{\Omega} |\nabla(t_\varepsilon v_\varepsilon)|^2 + \frac{\lambda}{2} \int_{\Omega} V(x) |F^{-1}(t_\varepsilon v_\varepsilon)|^2 - \int_{\Omega} H(F^{-1}(t_\varepsilon v_\varepsilon)) - \frac{1}{2^*} \int_{\Omega} |F^{-1}(t_\varepsilon v_\varepsilon)|^{2^*} \\ &\leq \frac{t_\varepsilon^2}{2} \int_{\Omega} |\nabla v_\varepsilon|^2 - \int_{\Omega} H(F^{-1}(t_\varepsilon v_\varepsilon)) - \frac{t_\varepsilon^{2^*}}{2^*} \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*}. \end{aligned}$$

Denote

$$g(t) := \frac{t^2}{2} |\nabla v_\varepsilon|_2^2 - \frac{t^{2^*}}{2^*} \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*}.$$

It is very standard to obtain that  $g(t)$  achieves its maximum at

$$t_0 = \left( \sqrt{\frac{2+\gamma}{2}} \right)^{N/2} |\nabla v_\varepsilon|_2^{\frac{2}{2^*-2}}$$

and

$$g(t_0) = \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} |\nabla v_\varepsilon|_2^{N/2}. \quad (3.12)$$

Then, it follows from (3.10) and (3.12) that

$$I_\lambda(t_\varepsilon v_\varepsilon) \leq \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} [S + O(\varepsilon^{N-2})]^{N/2} - \int_{\Omega} H(F^{-1}(t_\varepsilon v_\varepsilon)).$$

Using the following inequality

$$(a+b)^r \leq a^r + r(a+b)^{r-1}b, \quad a > 0, \quad b > 0, \quad r \geq 1,$$

we have

$$I_\lambda(t_\varepsilon v_\varepsilon) \leq \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} S^{N/2} + O(\varepsilon^{N-2}) - \int_{\Omega} H(F^{-1}(t_\varepsilon v_\varepsilon)). \quad (3.13)$$

By  $(h_3)$ , the definition of  $v_\varepsilon$  and since  $F^{-1}(t)$  is increasing, there exists a constant  $\delta > 0$  such that

$$H(F^{-1}(t_\varepsilon v_\varepsilon)) \geq C |F^{-1}(t_\varepsilon v_\varepsilon)|^\mu \geq C |F^{-1}(T_1 v_\varepsilon)|^\mu \geq C |F^{-1}(\delta \varepsilon^{\frac{2-N}{2}})|^\mu \quad (3.14)$$

for  $|x| \leq \varepsilon$ . Then, by (3.14) and Lemma 2.1-(3), one has

$$\int_{\Omega} H(F^{-1}(t_\varepsilon v_\varepsilon)) \geq C \int_{B_\varepsilon(0)} |F^{-1}(\delta \varepsilon^{\frac{2-N}{2}})|^\mu \geq C_0 \varepsilon^{\frac{(2-N)\mu}{2} + N}. \quad (3.15)$$

Therefore, by (3.13) and (3.15), we have

$$I_\lambda(t_\varepsilon v_\varepsilon) \leq \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} S^{N/2} + O(\varepsilon^{N-2}) - C_0 \varepsilon^{\frac{(2-N)\mu}{2} + N}.$$

Since  $\frac{(2-N)\mu}{2} + N < N - 2$  when  $N \geq 3$ ,  $\mu > \theta$ , we can obtain our result.  $\square$

**Lemma 3.5.** Assume that the conditions of Theorem 1.1 hold,  $\{v_n\}$  is a  $(PS)_c$  sequence for  $I_\lambda$  with

$$c < \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{\frac{N}{2}} S^{\frac{N}{2}}.$$

Then, for  $\lambda > 0$  large enough,  $\{v_n\}$  possesses a strongly convergent subsequence.

**Proof.** Denote

$$k(x, s) = \lambda V(x) \left[ s - \frac{F^{-1}(s)}{f(F^{-1}(s))} \right] + \frac{h(F^{-1}(s))}{f(F^{-1}(s))} + \frac{|F^{-1}(s)|^{2^*-1}}{f(F^{-1}(s))} - \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} s^{2^*-1}$$

and

$$K(x, s) = \int_0^s k(x, \tau) d\tau = \frac{1}{2} \lambda V(x) [s^2 - |F^{-1}(s)|^2] + H(F^{-1}(s)) + \frac{|F^{-1}(s)|^{2^*}}{2^*} - \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} \frac{s^{2^*}}{2^*}.$$

Then, the functional  $I_\lambda$  can be rewritten as

$$I_\lambda(v) = \frac{1}{2} \int_{\mathbb{R}^N} (|\nabla v|^2 + \lambda V(x) v^2) - \int_{\mathbb{R}^N} K(x, v) - \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} \frac{1}{2^*} \int_{\mathbb{R}^N} v^{2^*}.$$

The functions  $k(x, s)$  and  $K(x, s)$  enjoy the following properties under the assumptions  $(V_1)$ – $(V_3)$  and  $(h_1)$ – $(h_3)$ .

$$\lim_{s \rightarrow 0} \frac{k(x, s)}{s} = 0, \quad \lim_{s \rightarrow +\infty} \frac{k(x, s)}{s^{2^*-1}} = 0. \quad (3.16)$$

We are going to prove (3.16). From  $(h_2)$ , Lemma 2.1-(4)(5), and the fact that  $f(t) = \sqrt{1 + \frac{\gamma t^2}{2(1+t^2)}}$ ,  $F^{-1}(s) = t$ , we have

$$\begin{aligned} \frac{k(x, s)}{s} &= \lambda V(x) \left[ 1 - \frac{F^{-1}(s)}{s} \cdot \frac{1}{f(F^{-1}(s))} \right] + \frac{h(F^{-1}(s))}{s} \cdot \frac{1}{f(F^{-1}(s))} + \frac{|F^{-1}(s)|^{2^*-2}}{f(F^{-1}(s))} \cdot \frac{F^{-1}(s)}{s} \\ &\quad - \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} s^{2^*-2} \rightarrow 0, \text{ as } s \rightarrow 0, \end{aligned}$$

and

$$\begin{aligned} \frac{k(x, s)}{s^{2^*-1}} &= \lambda V(x) \left[ \frac{1}{s^{2^*-2}} - \frac{F^{-1}(s)}{s} \cdot \frac{1}{s^{2^*-2}} \cdot \frac{1}{f(F^{-1}(s))} \right] + \frac{h(F^{-1}(s))}{s^{2^*-1}} \cdot \frac{1}{f(F^{-1}(s))} \\ &\quad + \frac{|F^{-1}(s)|^{2^*-1}}{s^{2^*-1}} \cdot \frac{1}{f(F^{-1}(s))} - \left( \sqrt{\frac{2}{2+\gamma}} \right)^{2^*} \rightarrow 0, \text{ as } s \rightarrow +\infty. \end{aligned}$$

Applying Lemma 3.3,  $\{v_n\}$  is bounded. Then, by Lemma 2.3, one has

$$\lim_{n \rightarrow +\infty} \left[ \int_{\mathbb{R}^N} K(x, v_n) - \int_{\mathbb{R}^N} K(x, v) - \int_{\mathbb{R}^N} K(x, v_n - v) \right] = 0. \quad (3.17)$$

Setting  $w_n = v_n - v$ , the Brezis-Lieb lemma leads to

$$\|v_n\|_\lambda^2 = \|w_n\|_\lambda^2 + \|v\|_\lambda^2 + o_n(1), \quad |v_n|_{2^*}^{2^*} = |w_n|_{2^*}^{2^*} + |v|_{2^*}^{2^*} + o_n(1). \quad (3.18)$$

Next, we prove that  $w_n \rightarrow 0$  in  $E$ . Now, there are two cases that may occur:

$$(i) \quad \limsup_{n \rightarrow \infty} \sup_{y \in \mathbb{R}^N} \int_{B_r(y)} w_n^2 dx > 0;$$

$$(ii) \quad \limsup_{n \rightarrow \infty} \sup_{y \in \mathbb{R}^N} \int_{B_r(y)} w_n^2 dx = 0.$$

If the case (i) holds, then there exists a positive constant  $\delta > 0$  such that

$$\limsup_{n \rightarrow \infty} \sup_{y \in \mathbb{R}^N} \int_{B_r(y)} w_n^2 dx = \delta > 0.$$

From the weakly lower semicontinuous of the norm and the definition of  $w_n$ , we infer that

$$\|w_n\|_\lambda = \|v_n - v\|_\lambda \leq \|v_n\|_\lambda + \|v\|_\lambda \leq \|v_n\|_\lambda + \liminf_{n \rightarrow \infty} \|v_n\|_\lambda. \quad (3.19)$$

From Lemma 3.3, there exists a constant  $C$  such that

$$\limsup_{n \rightarrow \infty} \|v_n\|_\lambda \leq C. \quad (3.20)$$

Combining (3.19) with (3.20), we deduce

$$\limsup_{n \rightarrow \infty} \|w_n\|_\lambda \leq 2C. \quad (3.21)$$

Set  $D_R := \{x \in \mathbb{R}^N \setminus B_R : V(x) \geq V_0\}$ . Let  $\lambda \geq \frac{16C^2}{\delta V_0}$ , we obtain

$$\limsup_{n \rightarrow \infty} \int_{D_R} w_n^2 \leq \limsup_{n \rightarrow \infty} \frac{1}{\lambda V_0} \int_{D_R} \lambda V(x) w_n^2 \leq \limsup_{n \rightarrow \infty} \frac{1}{\lambda V_0} \|w_n\|_\lambda^2 \leq \frac{4C^2}{\lambda V_0} \leq \frac{\delta}{4}. \quad (3.22)$$

Let  $A_R := \{x \in \mathbb{R}^N \setminus B_R : V(x) < V_0\}$ , then from  $(V_2)$  and the Hölder and Sobolev inequalities, one obtains

$$\begin{aligned} \limsup_{n \rightarrow \infty} \int_{A_R} w_n^2 &\leq \limsup_{n \rightarrow \infty} \left( \int_{A_R} w_n^p \right)^{2/p} \left( \int_{A_R} 1 \right)^{(p-2)/p} \\ &\leq \limsup_{n \rightarrow \infty} C_1 \|w_n\|_\lambda^2 |A_R|^{(p-2)/p} \\ &\leq 4C^2 C_1 |A_R|^{(p-2)/p} \rightarrow 0, \text{ as } R \rightarrow +\infty, \end{aligned} \quad (3.23)$$

where  $p \in (2, 2^*]$ . From  $w_n \rightarrow 0$  in  $L^p_{\text{loc}}(\mathbb{R}^N)$  with  $p \in [2, 2^*)$ , we infer, as  $R \rightarrow +\infty$ ,

$$\begin{aligned} \delta &= \limsup_{n \rightarrow \infty} \sup_{y \in \mathbb{R}^N} \int_{B_r(y)} w_n^2 \leq \limsup_{n \rightarrow \infty} \int_{\mathbb{R}^N} w_n^2 \\ &= \limsup_{n \rightarrow \infty} \left( \int_{B_R} w_n^2 + \int_{B_R^c} w_n^2 \right) \\ &= \limsup_{n \rightarrow \infty} \left( \int_{D_R} w_n^2 + \int_{A_R} w_n^2 \right) \\ &\leq \frac{\delta}{4}, \end{aligned}$$

which is a contradiction.

If case (ii) holds, it follows from the Lions lemma that  $w_n \rightarrow 0$  in  $L^p(\mathbb{R}^N)$  with  $p \in (2, 2^*)$ . By (3.16), we infer that for any  $\varepsilon > 0$ , there exists  $C_\varepsilon > 0$  such that

$$\begin{aligned} |K(x, w_n)| &\leq \varepsilon(|w_n|^2 + |w_n|^{2^*}) + C_\varepsilon |w_n|^p, \\ |k(x, w_n)w_n| &\leq \varepsilon(|w_n|^2 + |w_n|^{2^*}) + C_\varepsilon |w_n|^p. \end{aligned}$$

Thus, one obtains

$$\int_{\mathbb{R}^N} K(x, w_n) = o_n(1), \quad \int_{\mathbb{R}^N} k(x, w_n)w_n = o_n(1). \quad (3.24)$$

It follows from (3.17), (3.18), and (3.24) that

$$\begin{aligned} I_\lambda(v_n) - I_\lambda(v) &= \frac{1}{2}(\|v_n\|_\lambda^2 - \|v\|_\lambda^2) - \int_{\mathbb{R}^N} [K(x, v_n) - K(x, v)] - \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \frac{1}{2^*} \int_{\mathbb{R}^N} (v_n^{2^*} - v^{2^*}) \\ &= \frac{1}{2}\|w_n\|_\lambda^2 - \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \frac{1}{2^*} \int_{\mathbb{R}^N} w_n^{2^*} + o_n(1) \end{aligned} \quad (3.25)$$

and

$$\begin{aligned} \langle I'_\lambda(v_n), v_n \rangle - \langle I'_\lambda(v), v \rangle &= \|v_n\|_\lambda^2 - \|v\|_\lambda^2 - \int_{\mathbb{R}^N} [k(x, v_n)v_n - k(x, v)v] - \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \int_{\mathbb{R}^N} [v_n^{2^*} - v^{2^*}] \\ &= \|w_n\|_\lambda^2 - \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \int_{\mathbb{R}^N} w_n^{2^*} + o_n(1). \end{aligned} \quad (3.26)$$

We may assume that  $\|w_n\|_\lambda^2 \rightarrow l$ , then by (3.26) and the fact that  $\langle I'_\lambda(v_n), v_n \rangle - \langle I'_\lambda(v), v \rangle \rightarrow 0$ , we obtain

$$\left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \int_{\mathbb{R}^N} w_n^{2^*} \rightarrow l.$$

Next, we are going to claim that  $l = 0$ . Since  $v$  is a critical point of  $I_\lambda$ , it satisfies

$$\langle I'_\lambda(v), F^{-1}(v)f(F^{-1}(v)) \rangle = 0.$$

Then, we can infer

$$\begin{aligned} \mu I_\lambda(v) &= \mu I_\lambda(v) - \langle I'_\lambda(v), F^{-1}(v)f(F^{-1}(v)) \rangle \\ &= \int_{\mathbb{R}^N} \left( \frac{\mu-2}{2} - \frac{F^{-1}(v)f'(F^{-1}(v))}{f(F^{-1}(v))} \right) |\nabla v|^2 + \frac{\mu-2}{2} \int_{\mathbb{R}^N} \lambda V(x) |F^{-1}(v)|^2 \\ &\quad + \frac{2^*-\mu}{2^*} \int_{\mathbb{R}^N} |F^{-1}(v)|^{2^*} + \int_{\mathbb{R}^N} [h(F^{-1}(v))F^{-1}(v) - \mu H(F^{-1}(v))]. \end{aligned}$$

Since  $2 < \mu < 2^*$ , it follows from the above equality, (3.5), (3.6), and  $(h_3)$  that

$$I_\lambda(v) > 0. \quad (3.27)$$

Combining (3.25) and (3.27) with the fact that  $I_\lambda(v_n) \rightarrow c$ , we deduce

$$\left(\frac{1}{2} - \frac{1}{2^*}\right)l \leq c. \quad (3.28)$$

By the definition of  $S$ , we can obtain that

$$S \left( \int_{\mathbb{R}^N} w_n^{2^*} \right)^{2/2^*} \leq \int_{\mathbb{R}^N} |\nabla w_n|^2 \leq \|w_n\|_\lambda^2,$$

namely,

$$S \left( \left( \sqrt{\frac{2+\gamma}{2}} \right)^{2^*} l \right)^{2/2^*} \leq l. \quad (3.29)$$

Either  $l = 0$  or  $l \geq \left(\sqrt{\frac{2+\gamma}{2}}\right)^N S^{\frac{N}{2}}$ .

Assume  $l \geq \left(\sqrt{\frac{2+\gamma}{2}}\right)^N S^{\frac{N}{2}}$ , we obtain from (3.28) that

$$c \geq \left(\frac{1}{2} - \frac{1}{2^*}\right)l \geq \frac{1}{N} \left(\frac{2+\gamma}{2}\right)^{\frac{N}{2}} S^{\frac{N}{2}},$$

which is contrary to Lemma 3.4. Therefore,  $l = 0$ , i.e.,  $\|w_n\|_\lambda \rightarrow 0$ . The proof is completed.  $\square$

**Proof of Theorem 1.1.** By Lemmas 3.1 and 3.2,  $I_\lambda$  satisfies the mountain path geometry, and we can obtain a  $(PS)_c$  sequence  $\{v_n\}$ . Then, by Lemma 3.5, the sequence  $\{v_n\}$  has a strong convergent subsequence. So, we can obtain a nontrivial solution by the Mountain Pass theorem.

Finally, we try to find the least energy solution. Define

$$m_\lambda = \inf\{I_\lambda(u) : u \in E, u \neq 0, I'_\lambda(u) = 0\}.$$

We claim that  $m_\lambda > 0$ . By the definition of  $m_\lambda$ , there exists a minimizing sequence  $\{u_n\}$  for  $m_\lambda$ , i.e.,  $I_\lambda(u_n) \rightarrow m_\lambda$ ,  $I'_\lambda(u_n) = 0$ . It follows from (3.16) that, for any  $\varepsilon > 0$ , there is  $C_\varepsilon > 0$  such that

$$|k(x, s)| \leq \varepsilon|s| + C_\varepsilon|s|^{2^*-1}. \quad (3.30)$$

Similar to the proof of (3.2), one can obtain

$$\int_{\mathbb{R}^N} |u_n|^2 \leq C_1 \|u_n\|_\lambda^2. \quad (3.31)$$

Since  $\langle I'_\lambda(u_n), u_n \rangle = 0$ , combining the Sobolev inequality with (3.30) and (3.31), we obtain

$$\begin{aligned} \|u_n\|_\lambda^2 &= \int_{\mathbb{R}^N} \left[ k(x, u_n)u_n + \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} u_n^{2^*} \right] \\ &\leq \int_{\mathbb{R}^N} (\varepsilon|u_n|^2 + C_\varepsilon|u_n|^{2^*}) + \left(\sqrt{\frac{2}{2+\gamma}}\right)^{2^*} \int_{\mathbb{R}^N} |u_n|^{2^*} \\ &\leq \varepsilon C_1 \|u_n\|_\lambda^2 + C_2 \left( \int_{\mathbb{R}^N} |\nabla u_n|^2 \right)^{\frac{2^*}{2}} \\ &\leq \varepsilon C_1 \|u_n\|_\lambda^2 + C_3 \|u_n\|_\lambda^{2^*}, \end{aligned}$$

where  $C_1$ ,  $C_2$ , and  $C_3$  are some positive constants. Take  $\varepsilon = \frac{1}{2C_1}$ , we know that

$$(1 - \varepsilon C_1) \|u_n\|_\lambda^2 = \frac{1}{2} \|u_n\|_\lambda^2 \leq C_3 \|u_n\|_\lambda^{2^*}.$$

Then, we obtain

$$\|u_n\|_\lambda \geq \left(\frac{1}{2C_3}\right)^{\frac{1}{2^*-2}} > 0.$$

Similar to the proof of (3.4), we have

$$\begin{aligned} \mu m_\lambda + o_n(1) &= \mu I_\lambda(u_n) - \langle I'_\lambda(u_n), F^{-1}(u_n)f(F^{-1}(u_n)) \rangle \\ &\geq \int_{\mathbb{R}^N} \left( \frac{\mu-2}{2} - \frac{F^{-1}(u_n)f'(F^{-1}(u_n))}{f(F^{-1}(u_n))} \right) |\nabla u_n|^2 + \frac{\mu-2}{2+\gamma} \int_{\mathbb{R}^N} \lambda V(x) u_n^2. \end{aligned}$$

Thanks to (3.5) and (3.6), there is  $\delta > 0$  such that

$$\frac{\mu-2}{2} - \frac{F^{-1}(u_n)f'(F^{-1}(u_n))}{f(F^{-1}(u_n))} \geq \delta > 0.$$

Thus, one obtains

$$\mu m_\lambda + o_n(1) \geq \min \left\{ \delta, \frac{\mu - 2}{2 + \gamma} \right\} \|u_n\|_\lambda^2 \geq \min \left\{ \delta, \frac{\mu - 2}{2 + \gamma} \right\} \left( \frac{1}{2C_3} \right)^{\frac{2}{2^*-2}} > 0,$$

which implies  $m_\lambda > 0$ .

Similar to the proof of Lemmas 3.3 and 3.5, we can obtain that  $\{u_n\}$  is bounded and there exists  $u \neq 0$  such that  $u_n \rightharpoonup u$ ,  $I'_\lambda(u) = 0$ . Hence, by  $(h_3)$  and the Fatou lemma, we obtain

$$\begin{aligned} \mu m_\lambda &\leq \mu I_\lambda(u) - \langle I'_\lambda(u), F^{-1}(u)f(F^{-1}(u)) \rangle \\ &= \int_{\mathbb{R}^N} \left( \frac{\mu - 2}{2} - \frac{F^{-1}(u)f'(F^{-1}(u))}{f(F^{-1}(u))} \right) |\nabla u|^2 + \frac{\mu - 2}{2} \int_{\mathbb{R}^N} \lambda V(x) |F^{-1}(u)|^2 \\ &\quad + \int_{\mathbb{R}^N} [h(F^{-1}(u))F^{-1}(u) - \mu H(F^{-1}(u))] + \frac{2^* - \mu}{2^*} \int_{\mathbb{R}^N} |F^{-1}(u)|^{2^*} \\ &\leq \liminf_{n \rightarrow \infty} (\mu I_\lambda(u_n) - \langle I'_\lambda(u_n), F^{-1}(u_n)f(F^{-1}(u_n)) \rangle) \\ &= \mu m_\lambda. \end{aligned}$$

Therefore,  $u \neq 0$  satisfies  $I_\lambda(u) = m_\lambda$  and  $I'_\lambda(u) = 0$ . The proof is completed.  $\square$

**Proof of Theorem 1.2.** Let  $v_\lambda$  be the ground state solution obtained in Theorem 1.1, then we can obtain that  $I_\lambda(v_\lambda) = m_\lambda < \frac{1}{N} \left( \frac{2+\gamma}{2} \right)^{N/2} S^{N/2} := \hat{c}$ ,  $I'_\lambda(v_\lambda) = 0$ . Define  $v_n = v_{\lambda_n}$ , then there exists a sequence  $\{v_n\}$  such that  $I_{\lambda_n}(v_n) = m_{\lambda_n} < \hat{c}$ ,  $I'_{\lambda_n}(v_n) = 0$ . As in the proof of Lemma 3.3, we obtain

$$\|v_n\|_{\lambda_n} \leq C m_{\lambda_n} \leq C \hat{c}. \quad (3.32)$$

Hence,  $\{v_n\}$  is bounded in  $E$ . Then, we may obtain, up to a subsequence,  $v_n \rightharpoonup \hat{v}$  in  $E$ . Since

$$\int_{D_R} v_n^2 \leq \frac{1}{\lambda_n V_0} \int_{D_R} \lambda_n V(x) v_n^2 \leq \frac{C^2 \hat{c}^2}{\lambda_n V_0} \rightarrow 0, \text{ as } \lambda_n \rightarrow +\infty. \quad (3.33)$$

From the Hölder and Sobolev inequalities, (3.23), (3.32), and (3.33), one obtains

$$\begin{aligned} \int_{B_R^c} v_n^p &= \left( \int_{B_R^c} |v_n|^2 \right)^{\frac{2^*-p}{2^*-2}} \left( \int_{B_R^c} |v_n|^{2^*} \right)^{\frac{p-2}{2^*-2}} \\ &\leq \left( \int_{D_R} |v_n|^2 + \int_{A_R} |v_n|^2 \right)^{\frac{2^*-p}{2^*-2}} S^{-\frac{N}{4}(p-2)} \left( \int_{B_R^c} |\nabla v_n|^2 \right)^{\frac{N}{4}(p-2)} \\ &\leq \left( \frac{C^2 \hat{c}^2}{\lambda_n V_0} + C_2 |A_R|^{(p-2)p} \right)^{\frac{2^*-p}{2^*-2}} C_3 \|v_n\|_\lambda^{\frac{N}{2}(p-2)} \rightarrow 0, \end{aligned}$$

as  $R \rightarrow +\infty$ ,  $\lambda_n \rightarrow +\infty$ , and uniformly in  $n$ , where  $p \in (2, 2^*)$ . Thus, as  $\lambda_n \rightarrow +\infty$ ,

$$\int_{B_R^c} |v_n|^p - |\hat{v}|^p \leq \int_{B_R^c} |v_n|^p + \int_{B_R^c} |\hat{v}|^p \rightarrow 0, \text{ as } R \rightarrow +\infty.$$

Since  $v_n \rightarrow \hat{v}$  in  $L_{\text{loc}}^p(\mathbb{R}^N)$  ( $2 \leq p < 2^*$ ), we deduce

$$\int_{|x|<R} |v_n|^p \rightarrow \int_{|x|<R} |\hat{v}|^p.$$

Therefore,  $v_n \rightarrow \hat{v}$  in  $L^p(\mathbb{R}^N)$  as  $\lambda_n \rightarrow +\infty$ . Let  $w_n = v_n - \hat{v}$ , as the proof of Lemma 3.5, we may derive  $\|w_n\|_\lambda \rightarrow 0$ . Then, together with Lemma 3.3 and (3.32), we obtain

$$\lambda_n \int_{\mathbb{R}^N} V(x)|v_n|^2 \leq \|v_n\|_{\lambda_n}^2 \leq C^2 \hat{c}^2. \quad (3.34)$$

Combining (3.34) with the Fatou lemma, we obtain  $\int_{\mathbb{R}^N} V(x)|\hat{v}|^2 = 0$ . Thus, by  $(V_3)$ , we deduce that  $\hat{v} = 0$  a.e. in  $x \in \mathbb{R}^N \setminus \Omega$  and  $\hat{v} \in H_0^1(\Omega)$ . The proof is complete.  $\square$

**Acknowledgment:** The authors would like to express sincere thanks to the referees and the handling editor whose careful reading of the manuscript and valuable comments greatly improve the original manuscript.

**Funding information:** This research was funded by National Natural Science Foundation of China (Nos. 11971393, 11901499, and 11801465) and Nanhu Scholar Program for Young Scholars of XYNU (No. 201912).

**Conflict of interest:** Authors state no conflict of interest.

**Data availability statement:** No data, models, or code were generated or used during the study.

## References

- [1] S. Bae, H. O. Choi, and D. H. Pakk, *Existence of nodal solutions of nonlinear elliptic equations*, Proc. Roy. Soc. Edinburgh Sect. A **137** (2007), 1135–1155.
- [2] T. Bartsch, A. Pankov, and Z. Q. Wang, *Nonlinear Schrödinger equations with steep potential well*, Commun. Contemp. Math. **3** (2001), 549–569.
- [3] T. Bartsch and Z. Q. Wang, *Existence and multiplicity results for superlinear elliptic problems on  $\mathbb{R}^N$* , Commun. Partial Differ. Equ. **20** (1995), 1725–1741.
- [4] H. Brezis and L. Nirenberg, *Positive solutions of nonlinear elliptic equations involving critical Sobolev exponents*, Comm. Pure Appl. Math. **36** (1983), 437–477.
- [5] L. Chen, G. Z. Lu, and M. C. Zhu, *Sharp Trudinger–Moser inequality and ground state solutions to quasi-linear Schrödinger equations with degenerate potentials in  $\mathbb{R}^N$* , Adv. Nonlinear Stud. **21** (2021), 733–749.
- [6] Y. K. Cheng and Y. T. Shen, *Generalized quasilinear Schrödinger equations with critical growth*, Appl. Math. Letters, **65** (2017), 106–112.
- [7] C. M. Chu and H. D. Liu, *Existence of positive solutions for a quasilinear Schrödinger equation*, Nonlinear Anal. R.W.A. **44** (2018), 118–127.
- [8] M. Colin and L. Jeanjean, *Solutions for a quasilinear Schrödinger equation: a dual approach*, Nonlinear Anal. T.M.A. **56** (2004), 213–226.
- [9] Y. B. Deng, S. J. Peng, and S. S. Yan, *Critical exponents and solitary wave solutions for generalized quasilinear Schrödinger equations*, J. Diff. Equ. **260** (2016), 1228–1260.
- [10] Y. X. Guo and Z. W. Tang, *Ground state solutions for the quasilinear Schrödinger equation*, Nonlinear Anal. **75** (2012), 3235–3248.
- [11] W. T. Huang and J. L. Xiang, *Soliton solutions for a quasilinear Schrödinger equation with critical exponent*, Commun. Pure Appl. Anal. **15** (2016), 1309–1333.
- [12] Y. Jalilian, *Infinitely many solutions for a class of quasilinear Schrödinger equations involving sign-changing weight functions*, Applicable Anal. **98** (2019), 1347–1366.
- [13] Y. Y. Li, G. D. Li, and C. L. Tang, *Existence and concentration of solutions for Choquard equations with steep potential well and doubly critical exponents*, Adv. Nonlinear Stud. **21** (2021), 135–154.
- [14] J. Q. Liu and Z. Q. Wang, *Soliton solutions for quasilinear Schrödinger equations. I*, Proc. Amer. Math. Soc. **131** (2003), 441–448.
- [15] X. Liu, J. Liu and Z. Wang, *Quasilinear elliptic equations via perturbation method*, Proc. Amer. Math. Soc. **141** (2013), 253–263.
- [16] L. P. Luo and C. L. Tang, *Existence and concentration of ground state solutions for critical Kirchhoff-type equation with steep potential well*, Complex. Var. Ell. Equ. **67** (2022), 1756–1771.

- [17] M. Poppenberg, K. Schmitt, and Z. Q. Wang, *On the existence of soliton solutions to quasilinear Schrödinger equations*, Calc. Var. Partial Differ. Equ. **14** (2002), 329–344.
- [18] Y. T. Shen and Y. J. Wang, *Soliton solutions for generalized quasilinear Schrödinger equations*, Nonlinear Anal. **80** (2013), 194–201.
- [19] Y. T. Shen and Y. J. Wang, *Standing waves for a class of quasilinear Schrödinger equations*, Complex Var. Ell. Equ. **61** (2016), 817–842.
- [20] J. X. Wang, Q. Gao, and L. Wang, *Ground state solutions for a quasilinear Schrödinger equation with singular coefficients*, Elec. J. Diff. Equ. **114** (2017), 1–15.
- [21] Z. P. Wang and H. S. Zhou, *Positive solutions for nonlinear Schrödinger equations with deepening potential well*, J. Eur. Math. Soc. **11** (2009), 545–573.
- [22] M. Willem, *Minimax Theorems*, Birkhäuser, Boston, 1996.
- [23] L. F. Yin and X. P. Wu, *Existence and concentration of ground state solutions for critical Schrödinger equation with steep potential well*, Comput. Math. Appl. **78** (2019), 3862–3871.
- [24] L. F. Yin, X. P. Wu, and C. L. Tang, *Existence and concentration of ground state solutions for critical Schrödinger-Poisson system with steep potential well*, Appl. Math. and Comput. **374** (2020), 125035.
- [25] J. Zhang and W. M. Zou, *Existence and concentrate behavior of Schrödinger equations with critical exponential growth in  $\mathbb{R}^N$* , Topol. Meth. Nonlinear Anal. **48** (2016), 345–370.
- [26] X. P. Zhu and D. M. Cao, *The concentration-compactness principle in nonlinear elliptic equations*, Acta. Math. Sci. **9** (1989), 307–328.